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Directions : In question nos. 1 to 9, select the
related letter/word/number from the given

PART - A
GENERAL INTELLIGENCE AND REASONING

. alternatives.

1. 9:80: 100: 7
(A) 901 (B) 1009
(C) 9889 () 9999

2..25:125:36:7
(A) 180 (B) 206
(C) 216 D) 318

3. 335:116::%?_1:? IR
(AT 868 ¢ 9 (B) 867
(C',_} 872 (D) 888

4. BEGK : ADF] :: PSVY : ?
(A) ROUX B ORUX
(C) LQUT (D) LOQT

5. AZBY : CXDW :: EVFU : 7 ©
(A9 GTHS (B) GHTS
(C) GSTH (D) - TGSH

6. ‘ﬁﬁfé‘HnﬂﬂUﬁ? :» CBGI™
(A) QTWZ (B) PFTVX
(C) JLNP ®) TVXZ

@fﬂﬂd:‘iﬁﬂ:; fur.].:?

(A) wood
{C) heat

(B) . fire
(D) smoke

@Spiﬁma] : Belief :: Orchestral : ?

(A) Theatre (B) Situation
- (C) Music (D) Direction
@Lﬂll'ﬁl‘ : Former :: Hazardous : 7
(A) Risky (B) Comfortable
(C) Safe (D) Harmful

D - MC 2012

Directions : In question nos. 10 to 18, find the
odd word/number/letters/number pair from the

| given alternatives.

10. (A) VWY
(C) LMO

(i) a) BE

(A) Booklet
(C) Voucher

WB) 484 v uat’

(B) QRT
By JKL

B) GI
) ORy & W

~g7 %

Dy 729 &

B) 1725 %
(D) 4096

(B) 60— 80
(D) 36-48

B) DW

L] LR, -
" (B) Basic

(D) Fortran

(B) Buck
(D) Peahen

(B) Pamphlet
(D) Brochure

19. Which word will appear third in the

dictionary 7

(A) BALLIUM

(B) BALLISTICS

(3 BALLERINA (D) BALLISTITE

20. Which word will appear last in the

dictionary 7
(A) laugh
(£ laurels

SPACE FOR ROUGH WORK

(B) latch
(D) Tatitude
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1.9:80:.100 : ? | 10. (A) VWY (B) QRT
(A) 901 (B) 1009 (C) LMO (D) JKL
i o o) o 11. (A) BE (B) GJ
2. 25:125::36: 7 (C) NP (D) QR
(A) 180 (B) 206 -
(C) 216 (D) 318. 12. (A) 400 (B) 484
'3, 335:216::987: 7 - k. e ndllled
~ (A) 868 (B) 867 13. (A) 1000 (B) 1725
©) 8712 (D) 888 (C) 2744 (D) 4096
4. BEGK : ADFJ :: PSVY : 7 14. (A) 12-16 (B) 60— 80
(A) ROUX (B) ORUX (C) 30 -50 (D) 3648
(C) LQUT (D) LOQT - ™ [ﬁ,;l - @) .Dw
5. AZBY : CXDW :: EVFU : 7 ' -
- (A) GTHS (B) GHTS - ©.JQ ) LR
~ (O) GSTH (D) TGSH 16. (A) &g (B) S
6. BDFH : SUWY :: CEGI : (C) s/ * (D) BIEN
(A) QTWZ (B) PTVX |
(C) JINP: /D) TVXZ 17. (A) H@I  (B) T
7. HTER : ATEHT = Fa - 7 (C) & (D) HIGAT
(A) T4 V) N 18. (A) qfRm B) drFE
om, o s o
5 Ny R : : !ﬁﬁ_ ? 19, SRR ¥ SR A T F-FT 9% BT 7
. (B) (A) BALLIUM  (B) BALLISTICS
© @ (D fan (C) BALLERINA (D) BALLISTITE
9. ST : eI = W : 7 20, Y H S e T -4 e B 7
(A) hfdt (B) F&= (A) laugh (B) laich
(C) qLfem (D) efFFRE (C) laurels (D) latitude
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21. Arrange the given words in a meaningful
order : .
1. INFANT 2. ADOLESCENT .
i, CHILD 4. OLD 5. ADULT

+ (A) 3,1,2,45 @B 1,3 254
(C) 3,2, 4,51 {D]5.4._EL1.1

Directions : In question nos. 22 and 23, which
one set of letters when sequentially placed at the
gaps in the given letter series shall complete it 7

@E_Eh_{.‘-ﬂ__hﬂ_.ﬂ co0- ¥

(A) bcab (B) abech

(C) bach (D) cbac
@jhz_Mh_hahh_h

(A) baaa (B) abbb

(C) babb (D) abab

Directions : In question nos. 24 to 27, select the
missing number from the given responses.

yhs s
24. 500, 484, 459, 7, 374

29. (lass A has students twice that of class B.
After adding 20 students to class A and 30
students to class B, the total number of
students in both the classes is 140. What 1s

the number of students in class A in the
beginning 7 '
(BY 60

(A) 30
(D) 140

(C) 80
30. Find the lowest number which when
divided by 8, 12, 15 and 20 leaves the

remainder 2.
(A) 360 (B) 242
(" 122 (D) 82 '

A b =
If Ebh-:cﬂnma A and P becomes O, what
will l_li.:._bf.i:::umﬁ_in the English alphabet ?
(A) L ) J
(Cy H (D) N
32 ﬁt given word is followed by 4 responses,
one of which cannot be formed by using

the letters of the word given ‘CAMBRIDGE'.
Find out the word. |

(A) BRIDGE
(C) BRIDE

(B) CAME
£y CAMP

33. If SEASONAL is written as ESSANOLA,
how can SEPARATE be written in that

codea 1
(A} SEAPARET (B) ESPARATE
(C) ESPAARITE (B3 ESAPARET

34. In certain code, E_F_u._rGHMFﬁH I5 wrilten as
GARVAHNA. In that code which word will
be written as ]'ﬂﬂ".[_'_HHEmH 7

(A TAMVAHNA (B) TAMVAHAN
(C) TAMHAVNA (D) MATVAHNA

SPACE FOR ROUGH WORK

(A) 384 (B) 432
(C) 418 (B 423
25. MNOPWXYZRSTUBCD 2
(A) A @) E
(©) 1 (D) F
2. 60, 69, 85, 7,146
(AT 110 @) 111
(C) 109 (D). 120
Wb n% b et
27. 46, 50, 47, 35, 49,6}, 1
(A) 54 (BT 52
(C) 57 (D) 51
*;;rﬂn 28. The average age of 25 subordinates in an
"% office is 30 years. If the age of Manager is
added, the average increases to 31 years.
J'm What is the age of the Manager ?
(A) 26 (B) 36
(C) 46 7 56
D - MC 2012



1. g 2. R 3. 9w
4. 9 5. 9UEh
(A) 3,1,2,45 (B) 1,3,2,5,4
(C) 3,2.4, 5, 1 (D) 5,4,3,2, 1
frdyr « v Fear 22 3K 23 F A & FE-4
e Gl ST 9 FHHAT Ta & &F 71§ e a0
T T T 7
22,c_ab_ca_bc_a
(A) bcab (By'abcb
(C) bach (D) cbac
23. ba _bab _ babb_b
(A) baaa (B) abbb
(C) babb (D) abab
fr¥er ; gy dear 24 § 27 % # fEu v faemedi #
& |9 sw T Aoy |
24. 500, 484, 459, 7, 374
(A) 384 (B) 432
(C) 418 (D) 423
25, MNOPWXYZRSTUBCD 7
(A) A (B) E
(C) 1 (D) F
26. 60, 69, 85, 2, 146 -
(A) 110 (B) 117
(C) 109 (D) 120
27. 46, 50, 47,55, 49, 61, 2
(A) 54 (B) 52
(C), 57 (D) 51

28. & wEted A 25 AeTEg] A AET WY 30
af & | af gerww $i ang frer & s @
afferer g =9 T 31 9 &Y STt & | g

g TR 7
(A) 26 (B) 36
(C) 46 (D) 56

20 AT BAgR A EITW AR
20 BT X FHT B ¥ 30 BTH "G & A<
ST wawEl § ol @ F@ Fer 140 ¥
AT FET A § oAl Y e | At !
(A) 30 (B) 60
(C) 80 (D) 140

30, wre e T forg ot 8, 12, 15,2(K 20
¥ Frmforg &t 9 2 A9 == 2
(A) 360 (B) 242

() 43 D) 827
31, s aofAET A af B, AR AR P, O &

T & K g s ?
- (A). Ly (B) J
(C) H ™ D) N

/32, T g vz % e 4 I g g & foed @

o f&u 17 952 ‘CAMBRIDGE’ & #&rl &1
qART S AET SATET AT §HAT | I 9= |

i |
(A) BRIDGE

(C) BRIDE

(B) CAME
(D) CAMP

33, af* SEASONAL %I ESSANOLA feram =,
At Ieft iz weT i SEPARATE 1 feram stem
(A) SEAPARET  (B) ESPARATE
(C) ESPAARTE (D) ESAPARET

34, et Fz smam # RAGHAVAN &
GARVAHNA ferar wiman &, & 3t oz s o
FI7- 952 F MATHAVAN feram simem 7

(A) TAMVAHNA (B) TAMVAHAN
(C) TAMHAVNA (D) MATVAHNA

% w1 & fav =
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£y q ¢
35. If ‘FRIEHI} is coded as ‘IULHQ&‘. how 41. From the given details, estimate {he
will you codé ‘ENEMY’" T n o number of people affected by Tuberculosis
in particular locality in the year 1994

(hy HQHPB  (B) HQHPA -
(C) HQEMY (D) HQHPG 1994 1995 1996 1997 1998
36. In acoded language, if the word EQUATION ? 92 113 141 176
is coded as GSWCVKQP, then how is the (A) 99 (B) 85 s Ce
word DONKEY coded ? ) - 1-- @ 78 2
(A FQPMGA  (B) YEKNOD man started from a place walked towards
(C) GWCVEK] (D) PQEKUCW Morth for 5 km then turned 90° tohus right
5 3 és M and walked another 5 km. Thén he turned
@ If38+ 15 =66 and 29 + 36 =99, then 45° to his ﬂgh[ and walked ‘.3 km and Y
B2+44="7 wrned 45° to his left. What is his direction"r—
(A) 77 (B) 88 now 7 f’z
(C) 80 (D) 94 (A) South (B) South East >
(C) East (D) South West
38. I.f + means +, — means X, X means + 43. A boy running towards South, tumns to his
i means —, give the value for qx3xS7" right'and rums. Then he turns to his right
45+9-3x15=2 - and finally turns to his left. Towards which
(X7 40 (B) 36 direction is he running now 7 .
C) 56 (A) East BT West
) o (C) South (D) North

Directions : In question nos. 39 and 40, select. | "Directions : In question nos. 44 and 45, one

the missing number from the given responses. statement is given, followed by two conclu-
. sions 1 and II. You have to consider the state-

8 6 ments to be true even if they seem to be at
9 5 variance from commonly known facts. You have
2 ' 1o decide which of the given conclusions, if any,
70 29 follow from the given statements.
(B) 8 @Slmﬁment : To keep myself up-
(D) 5 dated, I always listen
to 9 o'clock news on
radio.
Conclusions 1 : The person does not
read newspaper.

II : Recent news is availa-
ble only on radio.
(A) Only conclusion 1 is implicit
(B) Only conclusion I is implicit
A8) 21 (7 Neither conclusion I nor Il is implicit
(D) 18 (D) Both conclusions are implicit

SPACE FOR ROUGH WORK 3
U i ! &
¥,

D - MC 2012 6



35, gfE ‘FRIEND’ & %e Wt # ‘IULHQG’
forar SraT &, @ ‘ENEMY’ &0 & femr

ST 7
(A) HQHPB (B) HQHPA
(C) HQEMY (D) HQHPG

36, it g s ¥ 7 EQUATION wig &1
GSWCVKQP ferar =imar &, @ DONKEY

41 faw o o & & 1994 ¥ = fafie @

" ¥ A i owfre Sr T FT AT
$ifaa | -
1994 1995 1996 . 1997 1998
? 92 113 141 176
(A) 99 (B) 85
() 71 (D) 78

42, uF AT et @ & 5 fedt s & A

=% & e ferar s ? Rer 00° T

(A) FQPMGA  (B) YEKNOD E:amlgf:ﬁ; ﬁ#ﬂgg iq;grﬁr

(C) GWCVKJ - (D) PQKUCW 2 it T 3T 45° et aTd SN AT | I
37. af? 38 + 15 =66 # 29 + 36 =99, a o R 7

82 4+ 44 =7 (A) aféor (B) &ftor

(A) 77 (B) 88 © (D) =t

(C) 80 (D) 94 43, =firor 3 TC AT TET U FEHT ATAT A8 AT
38, afk + wraf & 2, - FTHd & x, x & e & aite st @ | e A st & AR

B4 TR, A H‘Hﬁﬂﬂﬁiﬂfﬁtﬁﬁﬂ%lﬁﬂﬁﬁ?ﬂ

454+9-3x152-2 FTAM & fe Sy < € !

(A) 40 B) 36 A ,  (B) W

(C) 56 (D) 28 A A ﬁﬁn{Fg}q#‘EiﬂTidaﬂIﬁ[ﬁD} E:;r&mnm%
ﬁﬁ:ﬁ#mﬂgﬂ{mﬁﬁqﬂﬁﬁﬂ%ﬁﬁﬁ' ﬁﬁ;ﬁﬂﬁqﬁ#ﬁ"ﬁiﬁm@mﬁ}
AW ¥ T Hiferg | | a0 € & e g ® = @ e

it & firer aefter &x & | st foofa & &

8 6
5 . few 10 @At & @ e e fifvaa s & w@
2 PR AN BT |
70 .29 44, FaT . @ F AT @ &
(B) 8 forg # war e w9
(D) 5 T & FHTE g7 |
e | - !’Eﬂﬁl’ﬁm{ﬁﬂﬁ
g |
II : T AT Shad Lear
9T 97 Bl & |
(A) Faw faed | Fepear @
(B) Faw freed 11 e
(B) 21 () Frewed 1 afe 1 # & = ot a] 7E ?

(D) 2T et e &

- % w1 % fEu '

D - MC 2012 T [P.T.O.



@Smnm :  All wealthy people are From the given answer figures, select the

happy in life. one in which the question figure is hidden/
embedded.
Conclusions 1 : Wealth and happiness ' Question figure

are directly related.

I : Wealth leads tuhnppl I
ness in life. -

(A) -Only conclusion 1 follows

8L Answer figures |
(B) Only conclusion II follows -

L . - .

(D) Neither conclusion I nor 1I follow B) <

Directions : In question no. 48, a piece of paper
i< folded and cut as shown below in the question
figures. From the given answer figures, indicate

how it will appear when opened.

Directions : In question no. 46, which answer
figure will complete the question figure ?

.{;!uﬂstmn figures

cls(ale)

Answer figures

‘H" ¢.¢
{:-t.‘}

{E’] (A) [ﬂ} (E} (D)

SPACE FOR ROUGH WORK

D - MC 2012 8



45. 49

frred I
I :
(A) Faw fed [ @0 @
(B) ¥aw fremd 1 s &
() fed 1 sl & & 1 ot 99 7891 - (A), ° {E}

| forder « Taw wear 48 ¥ ova agfoai # fEEg
fdwr « v W 46 § ST ST AP T |, gpgere ahmrer Y A AR A 1 Qe F AR T
gl & gftre &t g Fait 7 SEE

g ATplel I ATHEr
7 AN B
_t"__'l.gf - a - ¥ _ —
A B © D A ® © O

o 10 & oo ==
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49. Select the comect option that will be the
mirror reflection of the problem figure.

Question figure

Directions : In question no. 50, a word is repre-
sented by only one set of numbers as given in
any one of the alternatives. The sets of numbers

given in the alternatives are represented by two
classes of alphabets as in two matrices.given
below. The columns and rows of Matnx I are
numbered from 0 to 4 and that of Matrix 11 are
numbered from 5 to 9. A letter from these

matrices can be represented first by its ow and
next by its column, e.g., ‘P’ €an be represented
by 11, 32, etc. and ‘K’ ¢dn be represented by
65. 78, etc. Similarly, you have to identify the set

5. 20, 56, 59 (BY 79, 13, 69, 75
(Gn. 96, 34, 76, 89 (D) 67, 21, &5, 97

46. Anand, David, Karim and Mano are fans of
games. Each has a different favourite game
among hockey, chess, cricket and football.
David does not watch cricket and hockey

—atches. Anand does not like hockey, chess
and cricket. Mano does not watch ericket.
What is the favourite game of Karim?

(A) Chess (B) Cricket
(C) Football (D) Hockey
47. Choose the cormect alternative that will

continue the same pattern and fill in the
blank spaces.

(B) 115
(D) 131

48. Which word cannot be formed by using the
letters of FLOWERBED 7

(A) WOLF (B) LOWER
(C) FOLLOWER (D) FREED
49. Select the related word from the given
alternatives :
frequently : rarely :: always : 7
(A) Normally (B) Usually
(C) Seldom (D) Ever

50. Which one of the following is different
from the other three ?

(A) Ear (B) Liver
(C) Kidney (D) Eye

SPACE FOR ROUGH WORK

D - MC 2012
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49. @@t famer 9fg St ww fer w1 afor | e giseanfEe swiqat & &g 8

gierteresr g | _
YT ATHI 46. arE, 2fere, w0 o AT St & A € |
' e ot =1 e, wader, fonehe ol geatre |

| ¥ w fow wgas @ € 3w e alie
"P gTeht & &= €1 25T | s St el a9
' | s e st ET onrdt | AT feeee wEl
%ﬁmlﬂﬂﬂmqﬁiﬁﬁaﬂa—m%?

J m H[t]| o o

(A) 47, e Aaergig St sdr 3= = @
frsar - oy geT SHﬁqﬂi.ﬂﬁ'#ﬂ.ﬂﬂﬁﬂﬂF 7 foes = &1 w4 |
A arr sufar mar ®, Ser & G # & et a2 A D63, 72
o ¥ femr mar @ | feedt # Ry 1y wer-wE RS
e & <) At gy gwfe g &, Sar & A9 g g 4) 92 (B) 113
Y AreggEl # € | AregE 1% s A it i g (© 127 (D) 131

0% 4 & ok ¥ o ar=gE 11 H 5 F 9 | T AT |
¥ UF AWK F qg IEhr ufew oK aw H wew | 48. FLOWERBED & 37&RI &7 T4RT Fl -

HEgT g ST |1 #@har & | S8 & e, P T W& AEL ST AT Tl ?
T 11, 32 i 2Ry S9iar 97 9%dar ©aur K EI‘I:'I‘ - (A) WOLF (B) LOWER

65, 78 afe gry Fufar st G & @ o< F
ot 3 R SATIE e Y S8 =) (C) FOLLOWER (D) FREED

T ¥ ,. 4y.&qmﬁm~ﬁri’fi‘rﬁf‘aﬁﬂ=:ﬁﬁq
50. aRa< ; foe gt s || ?
did (A) HHT: (B) ¥
5| E (C) TET-FaT )
LK
Els | $0. -1 I A ¥ Frw & 7
1 M| L
| (A) wTT (B) aga ()
(A) 55, 20, 56, 59 (B) 79, 13, 69, 75
(C) 96, 34, 76, 89 (D) 67, 21, 85, 97 (C) g% ([a1) (D) Af@

D - MC 2012 1] [P.T.O.




PART - B
GENERAL AWARENESS

§7. The term “closure” in Parliamentary termi-

51. A movement along the demand curve of a
commodity occurs due to change in
(A) income of the consumers
(B) its own price
(C) taste of the consumers
(D) expectations of the consumers

52. GNP calculation through Expenditure
Method does met include

{A) Gross Domestic Private Investments
(B) Net Foreign Investments

(C) Depreciation Expenditures

(D) Private Consumption Expenditure

53, The Lobb-Douglas Production function
0 = AL%!!-® is based on

(A) increasing returns to scale
(B) decreasing returns to scale
(C) constant returns to scale

(D) fluctuating returns to_scale

‘54, Find the odd one out of the following :
(A) Delhi Transport Corporation
(B) Indian Railways
(C) Kingfisher Airlines
(I} Reliance Industries Limited

55. Monetary Policy in India is laid down and

executed by
(A) Union Government

(B) ASSOCHAM
(C) Reserve Bank of India
(D) FICCI

56. Which one of the following subjects is not
available on the Union List ?

(A) Census (B7 Banking
(] Trade Union (D) Foreign Loans

D - MC 2012

nology implies
(A) the end of session of Parliament

(B) stoppage of debate on a motion
(C) end of a day’s proceedings
(D) None of the above

58. Which of the following is mot. correctly

12

matched ?

(A) Article 14. - Equality before law

(B) Article 16 '~ Equal opportunities

(C) Article 17 - Abolition of titles

(D) Atficle.18 - Permission of
military titles

59, Which of the following Presidents held
office for two consecutive terms 7
(A) Dr. 5. Radhakrishnan
(B) Dr. Zakir Hussain
(C) Dr. Rajendra Prasad
(D) Both (A) and (C) : a

60. Which Amendment Act reduced the voting
age from 21 to 187

(A) 42nd (B) 44th
(C) 52nd (D) 6lst
61. Match the following :

a. Vikrama Era 1. A.D. 248
b. Saka Era 2. A.D. 320
c. Kalachuri Era 3. 58 B.C
d. Gupta Era . 4. A.D.78

(A) al, b2, c3, d4 (B) a3, b4, cl, d2

(C) a4, b3, c2,dl (D) a2, bl, o4, d3

62. Mahavira was the
(A) 21st Tirthankara

' (By 24th Tirthankara
(C) 23rd Tirthankara
(D) 22nd Tirthankara



"M -0

| ATHTR ST
51. et Ty & wir-a% & oqaw afenfean, | 57, Ged et § A & w7 o 7
- A s s s aat & 7 (A) 6T F T & AT

(A) TS 6t A B) et geama i 79 |WIAF

(B) S o9 q (C) Ffem wrdfavdr &7

(C) ITeiremmal & & (D) It ¥ I TEl |

(D) ITHIEHTET Ht arremd 58, foet S ieT e g &7

52, =-faftr & wmemw & i, @, . £ o §
T it wgr foar smar ?
(A) T o feit far
B) fraw fadeit fawr
(C) T =4
(D) =it Sovitr =04
53, ia-gw JET S Q = ALK farmr
9 AERAT § 7
(A) w19 =1 e afaws
(B) ATIF & BIEAT Siasd
(C) =9= =1 fax ofawe
(D) AT9F 7 Afer gfwa

54, A X Raw w &7

(A) =t afmes
(B) W | .
() for fwr weraTw
(D) femiw i fafies
55, wria ¥ AfEw AT s g = s s
a7 .
(A) FIT TTHT

6. frer ¥ Sv-ur e, ey qet F g @ 7
(A) FAOET (B) =
(C) wogr wen (D) fadait =

D - MC 2012
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(A) a7 14 - fafa F sgew so =

(B) #T%2% 16 — §AM HTEL
(C) &T=3% 17, ~  SNHEE 7 THIA

(D) =% 18 — #fF= nfemr Hir
. af
59, finet 3 e gl & s 2 AR T
g8 HHET o7 !
(A) &, T, TUFWE

B) =t wifEc gie
(C) =t Uo TuE

(D) (A) 4T (C) =T

60. T sy aiferfee & wam &t arg 21 =
# U 18 a9 & o af at ?

(A) 424t (B) 44 af
(C) s2at (D) 614t
61, Frer & 1 Ry _
a. foeem o : 1. 248 A.D.
b. % daq : 2.320 A.D.
c. T T 3, 58 B.C.
d. 7V ¥4 : 4. 78 A.D.
(A) al, b2, c3, d4 (B) a3, b4, cl, d2
(C) a4, b3, c2,dl (D) a2, bl, c4, d3
62. WETEIC AT & 7
(A) 217 drafex
(B) 244 dafax
(C) 23 ¥ drafaw
(D) 227 drafax

[PT.O.



63. Which one among the following woman
scholars challenged the invincible Yajna-
valkya in debate ? ;

(A) Ghosa (B) Apala
(C) Maitreyi (D) Gargi

64. Which one of the following event made the
crown of England to take over the Indian
Administration 7
(A) Battle of Plassey
(BY Battle of Buxar
(C) The Camatic Wars
(D) The Sepoy Mutiny

. 65. Who built the famous Dilwara temple at

Mount Abu in Rajasthan in the 13th
century 7

(A) Mahendrapala
(C) Rajyapala

66. GIS stands for
(A) Global Institute for Soils
(B) Geographical International Studies-
(C) Geographical Information Systems
(D) Global Information Statistics |

(B) Mahipala
(D) Tejapala

67. Which of the following s '‘a Trans-
Himalayan river ?

(A) Ganga ~(B) Yamuna
(C) Sutlej (D) Rawi
68. Match the following using codes given
below &
1 SList] List 11
% (Forest Type) (Regions)
a. Tropical Evergreen 1. Siwaliks
b. Monsoon 2. Shillong
c. Temperate 3. West Bengal
d. Mangrove 4. Nilgins
a b ¢ d
(A) 2 4 1 3
(B) 3 | 4 2
(C) 2 I - 3
(D) 3 4 | 2

D-MC 2012 14

69. On which river is the Nagarjunasagar
Project located ?

(&) Krishna
(C) Cauvery

(B) Godavari
(D) Tapti

70. Suez canal joins
(A) Persian Gulf and Arabian Sea
(B) Red Sea and Mediterraneafi Sea
(C) Mediterranean Sea and Black Sea
(D) Red Sea and AfabianSea

71. Drug whichohelps to reduce anxiety and
brings about calmness is
(A) .L‘I'I.nqﬂﬂiﬂﬂl' (B) diuretic

4 (C)yanalgesic (D) antihistamine

72. A keel is absent in
(A) Chicken
(C) Duck

(B) Ostrich

(D) Peacock

73. Broad spectrum antibiotics are produced
by
(A) Streptomyces
(C) Pencillium

(B) Aspergillus
(D) Bacillus

74. The pigment that protect plants from
harmful effect of ultraviolet rays is

(A) Chlorophyll (B) Carotenoid
(C) Phycocyanin (D) Plastud

75. Glycogen, starch and cellulose are
polymers of
(A) Fructose (37 Glucose
(C) Lactose (D)} Maltose




63. fm & ¥ o Rt 3, a faae & =T

64. fet & v weer A, oele & que &1 WA
TYTEA & 9T AW & o & fou ofE
forar ar ? '

(A) S #T 4E

65. 13 St wramest T & e o A g
femamer afex s T ar 7
(A) He 9T (B) #fE a@E
(C) T ITe (D) o 9T

66. GIS Frmmr sg sr & 7
(A) Haw TRITYE TR G
B) P TR ==
(C) Forrmfimea fwry e
(D) tae TeRAyE 2Rfes

67. Fr 3 @-dr 7, R RAr A & ?

(A) T (B) T
(C) |dera (D) TEt

68. T fim FrEl &1 9@ T S TR ;

B = b
—_ b B =0
e W D W B

D - MC 2012

69, AT WA i@ e 7 9 e '

g7 |
(A) FoI (B) TeEmEL
(C) FAL (D) amdt

(C) WA YW 4T FHTal FHIL
(D) ¥ TR 4T H7& FHIT

71, 7% MaRrat=at &, A gar 3 w0 w

2o wifir EE &7
(A) SYEs (B) A«
(C) TET-T (D) Uit
72, Few it el ama s 7
(A) T2 B) qTEH
(C) sa@ (D) AR
73. fange e afdfadft el sew e € 7

(A) BemEEE  (B) Teliew
(C) dfafeam (D) e

74. T2 i, AT FAeafd FY wWrehmr fHor F
goaNTE & I 8, A-w g 7

(A) FARIH (B) HaieAEs
(C) wmEmEAT (D) wies

75. TSI, & odT dee fHash dagas
e

. (A) FEEE
(C) eI

(B) Tt
(D) AT

[PT.O.



76. Black death is
(&) Cancer (B) Plague
(C) AIDS (D) Gonorrhoea
77. Stars appear o move from east (0 west
because the
(A) whole universe is moving from east to
west

(B) earth is revolving round the sun
(C) earth is rotating from east to west
() earth is rotating from west (0 east

78. On the moon, an astronaut cannot drink
lemonade with the help of a straw because

(A) acceleration due to gravity on the
maoon is less
(B) there is no atmosphere on the moon

(C) lemonade evaporates instantaneously
on the moon g

(D) None of the above

79. A particle moving with uniform speed
(A) must have uniform.vélocity-
(B) .cannot have uriiform,velocity
(C) may have uniform velocity
(D) willthaVe no velocity

80. Device which uses sound waves for

detection and ranging is called
. (A) Radar {B‘}/fSumr
(C) Pukar (D) None of the above

8$1. What is the name of the network topology
in which there are bi-directional links
between each possible node 7
(A) Ring (B) Star

(C) Tree (D) Mesh

D - MC 2012

82. LAN stands for
(A) Local Area Nodes
(B) ngnﬂm:ﬂ:twmk"’/
(C) Large Area Nodes
(D) Local Area Network

83, Dry Ice is nothing but
(A7 Gaseous carbon dioxide
(B) Washing soda _
(C) Solid carbon dioxide
(D) Carbon monoxide

84. Which one of the following is obtained as
slag in a blast fumace 7
(A) CaleiumCarbonate
(B) Calcium Stlphate
(Q) Galcidm Chloride

(D) Calcium Silicate

IS.‘WI'Im H, gas is allowed to expand from a

' mgiunﬂfhighpr:numtﬂarﬂgimnfluw
pressure, the temperature of the gas
(A) decreases to a small extent
(B) increases
(C) does not change
(D) decreases suddenly

86. In the industrial production of vegetable
ghee, the process involved is
(A) dissociation (B) reduction
(C) oxidation (D) ionisation

87. Which of the following weeds has been

found useful to check water pollution
caused by industrial affluents ?

(A) Parthenium

(B) Elephant grass

(C) Water hyacinth

(D) Both (A) and (B) above

16



76. 'mﬁ:ﬂer’ﬁﬁfﬁt?
(A) &

(B) @
C) Tw

(D) e

77. Hﬁﬁﬂqﬁﬁﬂﬁfkﬂmmﬁﬁ}

g7
(A) T ware, oF & ofeew &t g e @
(B) gt g $i afm & @ &
©) o, FARm A WA
(D) et afetes & of &1 7 @ @

78. S W, R safcearit, T £ wEEar
¥ A &7 e Ff A 9w 7
(A) ST 9T G & FHIOT =0 FH &
(B) ST 9T &I AgHEA TEI @

(©) mﬂaﬂq#mmaﬁﬂm
g e &

(D) <% 7 Frf T8

79. T F, WA Afer GE A BT TR ?
(A) JET A wwEa EhgT fi
(B) TEHT AT UHFATA AEI B Hepell
(C) JuET I T 8w &
()&% Yeefeer g

H!EEW At \ff o i e T
wajvan & forg wgen grar @, #am e @ 7

(A) TR (B) K

(C) (D) I ¥ HI¢ 7l
81. 39 Izad IO & | AW &, e

yrs awifaa e & fifeia wfigt § 7

(A) far (B) ®H

(€) # (D) 74

D - MC 2012
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83, et %, A g ?
(A) T FEA ST
(B) €I & |YET

(C) T a7 STLATFTLS
[D]Hiﬁhm

84, e ¥ ah, v aran-vedt  awgew &
w7 % e i s ¢ 7
(A) Ry wEHz
®), ¥R Tz
(D) Ffmaw fufede

5. MH, A s e s ara e &
BT A geia o &, AT @ W &
ATYHT 92 4T 99 qeaT & 7
(A) QYET-8T & B e &

(B) &% waT &
(C) wafafda war ?

(D) FEF &A & AT
86. TAEtT o & taifie SoET # SF-9

fater &m & & et & 7
(A) Farm (B) #9=a+
(C) HATFTHO (D) g

87, f & F\-a1 Avgw, - dfis vaw @
Io9H F-9599 X e @ § v
frggam 7
(A) Trdiaw
(B) T9T-HTH
(C) ¥« Haw
(D) S (A) 741 (B) ZA!
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88. In which year the Chemnobyl Nuclear
Power Plant of the former USSR had
“accident that caused escape of radio

nuclides into atmosphere 7
(A) 1979 (B) 1980
(C) 1984 (D) 1986

89. Certain desert lizards excrete their wastes
in dry form. This serves as a means of

(A) protective mechanism against their
predators

(B) limiting factor of the Organism

(C) adaptation of the organism 10 the
environment

(D) countering the problem of food
scarcity :

90. Which one is regarded as “World hentage
forest” 7
(A) Nandan Kanan in Odisha
(B) Kaziranga in Assam
(C) Sundarbans in West Bengal
(D) Indian Botanical Garden, Shibpur in
West Bengal

91. Kidney can be taken frem a dying person
who has the .
(A) cessation of neurological function only
(B). cessation of cardiac function only
(C) cessation of respiratory function only
(D) cessation of kidney function only

92. There is no life on moon because it has no

~ (A) Nitrogen (B) Sulphur
(27 Oxygen (D) Water
93, Losoong is a festival celebrated in
(A) Tibet
(B) Arunachal Pradesh
(C) Sikkim
(D) Kergla

D - MC 2012

94, The commodity for which India spends the
largest amount to import 18
(A) Foodgrains .
(B) Crude petroleum
(C) Fertilisers
(D) Iron and Steel

95. In which categories did Marie Curie win
her two different Nobel Prizes ?

(A) Physics and Chemistry
(B) Chemistry and Medicing
(C) Physics and Medicine
(D¥ Chemistry and.Peace

96. Michail Phelps won gold medals In
swimmiing events in the Beijing Olympics.

(A) © (B) 7
(€) 8 D) 9

97, Spot the odd one from the following :
(A) Tarapur (B) Trombay
(C) Kalpakkam {D) Narora

98. Which one of the following players has the
unique distinction of winning 50 Doubles
Titles in ATP tour history ?

(A) Leander Paes
(B) Andy Roddick
(C) Novak Djokovic
(D) Roger Federer

99, As per the 2011 census, the state with the
largest gap in male and female literacy is

(A) Uttar Pradesh
(B) Madhya Pradesh

(C) Rajasthan
(D) Kerala
100. Which among the following is termed "Hot
Money' ?
(A) Fll (B) FDI
(C) ADR (D) GDR

|8



8. qal Hqwh AifAqd ©F & AA e ATHDE
st &% & ag gfem @ gf @1, Fomd awl

argies # Hear-~geere Sw o g 7
(A) 1979 (B) 1980
(C) 1984 (D) 1986

89. g9 fieart fousfemt s = &1 =
aFR ¥ fremfia st €1 @@ e R
& e fimdt & 7
(A) Toafemdt & faeg @ & wrfard
(B) &l &t wifim @ &1 39
(C) AT FT Fqiaor & HAR A HeA
(D) & $Y Ft i gwer e

90, fimr # forty “Afvires farcrerer T 0 W7 ST
g7
(A) 3w # F77 FA
(B) 3|H ® S0
(C) afim s F gra< an

(D) 9fvsw sme § wRE aaﬁlﬁm,

m .l
foelt sperrr aafien o af &% & o, <@ forr
(A) ¥ dfifva gt w1 FEEE
(B) e gadl THl T ar
(C) ¥ @7 THAl FT HIGH
(D). Fawt % F ! 1 A=

9. ST ¢ FaT A Bt 3% v, et foRE w
FTotaT Au & 7

21.

(A) TS (B) &
(C) HATEEAA (D) o=

93, AIH UE 9o ¥, AW FHEl HAET A1 @ 7
(A) foea
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95. ﬂﬂl{ﬂﬂﬁﬁ’lﬁﬂﬂ"lﬁﬂwﬁﬂﬁm
At F e A ?
(A) ¥itfes ot wra

(A6 (B) 7
(o8 ®) 9
97, Fo ¥ oftge wm # fafea fifomg )
v (A) TR (B) 7=
(C) FHITFRT (D) T
98, finer # forwr flrarsl & ATP wiew & sfowem

#, 50 g Zrgfee sivaw & et gl aw
#fri?

(A) Fetdw

(B) UE Ufew

(C) Aas gAFIET

(D) TR HE

&1 2011 Ft FTOFAT F FTER, TE HA-H1
ae &, foras qeat ot Rt & arear #
e gTeT A g 7

(A) FOT =W

(B) W&T 9291

(C) Tr=eqm

(D) ¥

100. Fr=r & &8 'seadt e s AT R Y

(B) FDI
(D) GDR

(A) FII
(C) ADR
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QUANTITATIVE APTITUDE T e
77 V-

u * :
101. The next term of the series 1, 5, 12, 24,43 | 106. Two men A and 5§ started a job in which
is - : A was thrice as good as B and therefore

took 60 days less than B to finish the job.

(A) 51 (B) 62 _ ;
How many days will they take to finish
ey (D) 78 the job, if they start working together ? -
102. The least multiple of 13 which when divided (A) 135 days (B) 20 cdays .
by 4, 5. 6, 7 leaves remainder 3 in each case Kﬁl 22% days (D) 2 da:!rn | ti
0 107. A rectangular garden ' is. 100'm x 80 m.
(A) 3780 (BY 3783 There is a path along the garden and just
(C) 2520 . (-Er; 2522 - outside it. Width of the path is 10 m. The act
area of the path is o
103. The simplest value of (A71900. sq.m (B) 2400 sq m

(), 36605gm (D) 4000 sq m

1 1 1 l
S;Irjf}_ EE +33 * 33 +34 ¥ 34 +35 X 35 ++6 108, A dealer offered a machine for sale for
e | . /"= 27,500 but even if he had charged 10%
N less. he would have made a profit of 10%.
(A) ﬁ{ﬁ —1] (BY ﬁ[ﬁ —l:| 2, The actual cost of the machine is
| (A) T 22,000 (B) =T 24,250
'z;‘f”f (€) J3-1 D) 271 % (C)-T 22,500 (D) T 22,275
\ ey A and B are partners in a business. A :'; pl:;:f:{:rmﬂmr:;:ﬂﬂ ET mﬂnu,:n:rmﬂﬂn:
%, (0O  contributes } ofthe Capital for 15 months their wages in the ratio 7 : 9. As a result
i nd B received & of the profit. Find for the overall wages bill is
o 2 -5.' how long B's:money was used. (A) Increased in the ratio 56 : 69
:-.* | (B) Decreased in the ratio 56 : 45
}:i 11"“37[&} R N e : (C) Increased in the ratio 13: 17
, (C) 10 months (D) 12 months (D) Decreased in the ratio 17 : 13

110. The average age of a jury of 5 is 40. If a
member aged 35 resigns and a man aged
25 becomes a member, then the average

| IIZIE.'-H: 71 is added to a number, it becomes
7 less than thrice of the number. Then the

number 1s .  th i
L age of the new jury 1s

(A 14 (B) 16 (A) 30 (BY 38

(C) 18 (D) 19 (C) 40 (D) 42

SPACE FOR ROUGH WORK
. g0 JD

11 Jr.j#;% g ﬁ!"'};ﬁ' ﬁii-i "“',LTE-.
- ‘ >0 77

N
| ﬂaﬂfﬂ;ﬂ 3 e ~ e 5 -;.3-1'1‘5‘9:’
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101. 1, 5, 12, 24, 43 %t A0t ¥ spreht e - | 106, A 71 B ﬂ.-mfﬁﬁ%@mﬁw;&m

at & ? I A, B I AT H I AT e 41, I

- gaw B 1 e A 60 faT o ¥ e QA

(A) 51 (B) 62 , . fRar| 9eER, AR ¥ AR @ A T

©) 7 (D) 78 . mﬂ:ﬁmﬁ&aﬁaﬂ@mﬁﬁﬁﬁw
102. 13 1 9 §a@ Brer et A-a1 8, Frdy afz A) 15 A ®) 20 &7

4, 5, 6, 7 ¥ fawfor i sy, & W AR (€) 24 f D) 25 A

YA 3 B 7w 7 107. U AR ST 100 41, x 80 3., FT 7
(A) 3780 (B) 3783 I TR, JW Q1Y 37 G et ot ¢ | 99
(C) 2520 D) 2522 Tt it 1eTS 10 9. @ | SETOR, 99 T &

B fohaar &7
(A) 1900 #T. (B) 2400 & #t.

1 | 1 1 Al
O Bl T e | QWA O on s

T HCT A Y ? 377,500 ¥ s 1 & | A 412 7w 98
@ V3(VZ-1)  ® V2(V3-1) W 10% 9 HF TG A, o o IW10%
. : T @ firer STeT | qeqER, 99 AN & o
©) J3-1 D) 2-1 O Tt AN -3 faaar § 7
(A) T 22,000 (B) T 24,250
104. A T4 B UF 909 # RREOEIA Y 15 (C) T 22,500 D) T 22,275

| 109. v fFaienr oo it S gendg:. 5%
Afedt o g Gt &1 L fewar fdwr for gﬂm'ﬁaﬂﬂﬁﬁm aﬂtaﬁﬂgﬁﬂ?i’ﬁﬂ

AR Bt 7 1 4. e o g | aeqEr, mﬁmﬁm |trftm1=|ﬁs-=rFaﬁ’r

71T Fife & B & &t & swn e mm?m#ﬁnﬁﬁﬂ
e e ol ! (A) 55:&92@?%
36 : 45 & HATIT
(A)6 7EH (B) 8 wEM EE; 13 : 17 ¥ U ¥ 3fe
(C) 10 #&H (D) 12 #EH m;a%:;%mg%
o | 110. 5 40 % |
105. af% foelt s & 21 &Y <igr g, o 9w %fg?%%ﬂﬁrﬁgﬂﬁ%%
A1 fert &eaT & 7 %9 &1 St @ | eTER 25 FT 0F A ol
s R 87 aﬁmﬁ@,ﬂﬁ@?aﬁmmﬁﬁﬁ?
(A) 14 ~ (B) 16 (B) 38
C) 18 (D) 12 (D) 42
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% @ With average speed of 40 } km/hour, a train
o @., reaches its destination in time. If it goes

j,;ﬂf with an average speed of 35 km/hour, it is
3 . late by 15 minutes. The total journey is

pﬁﬁ%ﬁfm 30 km ®) 40 km

' C) 70 km 80 km
“AEgpha B

A man makes a profit of 20% on the sale
by selling 20 articles for T 1. The number of

g 2% aricleshe boughtby T 1is
et . AD (B) 24

, n@ ey 25 (D) 30
» u ,1,11“':'

“'113. The number of seats in an auditonum 18

-Z-E'.'L :-'Es#:-k#ﬂ ﬂ%-:":]-

.. yeO
P, b, it

()

'l'\.-:l:t-

116. If ;ﬁ+%=gﬂ{u > 0), then the value of

(o¥ %) L&g—j

(B) 1030
@7 970

o3 ;,_‘T will be
&

(A) 535
(€ 70

f x=l+ﬁ+ﬁ. then the valuoe of

(2x* - 8x* - 5x° +26x-08) is

(A) 6J6
(€) 36,

118.+If the distance between two points (0, =3)

D) 2J6

\00 5 increased by 25%. The price of a ticket is o .
13 : —
5 also increased by 12%. Then the increase in g (R0} 1s 10 Uit o L
. S (A) 10 (B) +10
w0 revenue collection will be © 12 B £12
W"‘“ (AY 40% (B) 35%
\
o (C) 45% (D) 48% 119. If 4x = 18y, then ?1& value of [%_-J] is
1‘1:51}};5 H. ship is moving at a speed of 30 km/hr. ﬁq R
S To know the depth of the ocean beneath it, (A) 4 BY +
2o it sends a radiowave which ravels at a (C D) %
X speed 200 m/s{ The ship receives the signa ) §
. x;,ﬁ;{*ﬂ afer it has moyed' 500 m. The depth of the 4o 1
\ ocean 15 el 2
P f x+?=5*mﬁnﬂmvalutnf gt ; ]
= X" =Jx+
(A —‘ﬁ;‘?' m - (B) 12 km B |
(A) 70 (B) 30
(C) 6 km (D) 8 km (€) 110 D) 55
I :f" £ T“ﬂ‘;ﬂﬂ“ :IE; 10,000 P;-“'F 121. If x =2+ 3, y=2-+/3, then the value ¢
_‘*.mmﬂ,-—l. rom a bank al p-a. remainng rom e
another bank at 10% p.a. He pays a total x*+y’ e ig* 1?;:1 _: ¥
- terest of T950 per annum. Amount of ;5+:,.3 'H:}
loan taken from the first bank (in ) is iy w (WM~ 3
(AT 2500 (B) 5200 :
(€) 2050 (D) 5020 ©O% 2 O
2 a0 mw)m SPACE FOR ROUGH WORK
'I'I!IE[:' = ..!-"" ’ 1R _.--"""-_?
| o0 1-1¢ :"_ﬂ:i%ﬁj" » ~\h w1
g N oaar Y \ 5/';"? a8
-~ '1”""'?% WX i M7 o
D-Mc2012 P 22 _.H;“:-}_?-. L34
4
¥ 422 3 35y ¢ O hafbprert
ar- o _
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111. 40 f&t /4, ﬂ"l‘é’[’ﬂ.qﬁimﬂﬁ
T - T 9% 999 T i wmat &
afg 38 35 /9. fr o 7 ==

15 ﬁﬂﬁﬂggﬁhﬂm,m

(A) 30 . (B) 40 f&Ft
(C) 70 it (D). 80 fat-

112. 3 =ftR, 20 T8 O &g At i A=A
T 20% T 9TH FT o § | TEAIR, IqE

T UE U i g{E fr =T
et & ? o

ﬂ;@“

(A) 20 (B) 24
(C) 25 (D) 30
113. OF Yarye i wiel f gen 7 25% $r 3fg

ﬂ’?ﬁmﬁ?ﬂ#mm lz;
ohv, IﬂﬂﬂEII EH&EII',]E

Hﬂﬁﬁﬂﬁi’%@w?

{.;f (B) 35%

(@) 45% (D) 48% '
114. T e 30 /9. finfadawwd 10w
A & {0 T =0 i Fragg e e
&, 309 uF egtadr gafa &t st &, o
zmﬁr‘{W # afer & st & | a9 wEr a5

500 #t, I 70 7w A Fare |

firer e & | SRR, Hﬁi#ﬂﬁﬂfﬁmﬁr

llﬁ qﬁ.ﬂ +“L='gﬂ[ﬁ}ﬂ}ﬂ|ﬁ l'.'lj'I'--“EET
ﬂ

ﬂﬁiﬁmrﬁmr‘-"
(A) 535 (B) 1030
(C) 790 (D) 970

M7 AR x=14+/243° 7, A

- [1_:1',:31'3 -.'EIJ:E + lﬁx-iﬂ} Rl |9 T |

g ?

(A) 646 ®0

(C) 3J6 D) 2J6 -
118. af2 2t figalt (0, -5) T, (00) & &= Fr =
13 U B, at. e s gnn ?

(A) 10 (BY +£10

(C) 12 (D) +12 )
119. af¥ 4= 18§ ﬁha“r[g—-i]-mrmﬁmm

gt

SV (B) %

© 3 M) 3

410

|

27 ! I""?
120 3R x+—=5 @, & ———F— @ AW
3 e g 7
(C) J6 fait (D) 8 famit (A) 70 (B) 50
115. o =fes T 10,000 ST H07 a7 & | SHF 0 () 110 (D) 55
T IE 8% AMs A R IF As d aar e t " "
PR TR ATAAAR| | 121 R x=2+3, y=2-3 ﬁr,ei’;“T-"’T
BT, T€ FeT AT F BT H T 950 TMid= X +y
wmtlﬁqﬁri TETAR S0 9B o & T |17, 4T g 7
T =, ( ) fefer an 7
(A) 2500 (B) 5200 (A) % ®) 3
(C) 2050 (D) 5020 © D) 55
% w14 F fao =
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P " Said b2
&
-l_ﬂ-.-'-t-b"ﬂ"" 'II.EI

@ If 2+bP+2t=2(a=b-c)-3, then the
value ﬂf'lﬂ-'.’tﬁ'+4r:iﬂ 5

(A) 3 B)-1
<) 2 (D) 4
123. If 2x——— =6, then the value of
o T ﬂr-"‘hﬁ'l- = ::
-1;"*_,2 Xt p—s is W ke 25
i_’;ﬁ?ﬁg lﬁ.'lf “;__-ﬂk-{'r;] "'1-
.H #ﬂr@ l_ gy
P . If5a+3ﬂ—5,lﬂu?nlu=ﬂf9n=+—ﬁﬁj is
Pl .
SO R
o* o ©) % ®) %

The area of the triangle formed by the lines
< 5x+Ty=35, 4x+3y=12 and x-axis is

Y -%I'nq.mﬁm (B) -‘ﬁ'-'sq.uniis

(A)
(C) 12 sq. units (D) 10 sq. units

@ In an obtuse-angled triangle ABG, ZA'is the
obtuse angle and O is _the orthocentre. If
ZBOC = 54°, then ZBAC is
(A) 108° (B 126°
(C) 136° (D) 116°
127. If the ratio of areas of two similar triangles
is 0+16. then the ratio of their corres-

ponding sides is
(A) 3:5 (BT 3:4
{C) 4:3 (D) 4:3

lﬂ.utBEandEFbem:h#umﬂdinnsﬂfa

o AABC and G be their intersection. Also let
+-.., EF cut AG at 0. Then AO : O is

B

If § is ﬂmcim%mum:: of AABC and
/A = 50° then the value of ZBCS is
(A) 20° (B) 40°
(C) 60° (D) 80°

130. AC and BC are two equal chords of a
circle. BA is produced to any point P and
CP, when joined cuts the circle at 7. Then
(A) CT:TP= AB: CA .

131. PQ is a direct common tangent of two
circles of radii #y and 7, touching each
other extemally af A. Then the value of

PO? is |
{A.-} .F"-I.r'-zl {B] Erlri
(C) 3rry (D) 4ryry
132, 4 in

B C

BC is the chord of a circle with centre O.
A is a point on major arc BC as shown in
the above figure. What is the value of
ZBAC+ £0BC =17

(A) 120° (B) 60°

(C) 907 (D) 180°

133. Two circles with radii 5 cm and 8 cm
touch each other externally at a point A.
If a straight line through the point A cuts

the circles at points P and Q respectively,
then AP : AQ is

o “ 7 @ 1:1 B) 1:2 (A) 8:5 () 5:8
\b () 2:1 M) 3:1 (C) 3:4 (D) 4:5
s 5;;5{:13 FOR ROUGH WORK

"<,
A= A = af -5 = .Il.r'ﬂ
‘(& O e s Q
', QFJ (3, 9) L o_)




i

]ﬂ-#ﬁﬂi-+b1+¢2=z{n.nﬁ_l,;}~_glﬁ]‘ i . 129, a2 S, dﬁﬂﬂﬂﬂﬁﬁﬁ.aﬂtﬁ.ﬂ=fﬂﬁ‘

2a —3b + 4c FT WA T AW ? B, dr ZBCS ST AW w1 T 7
(A).3 B 1 _ 1 . (A) 20° (B) 40
D) 4 (C) o0° (D) 80~

(€) 2

' 2x
e w1 et & 7
| AB:CA
5 -I; o le CA:AB
© ¥ o) ¥ g
: CA
124. uﬁiﬂ"'ElE:ﬁ ﬁ.fﬂ. 9ﬂ2+—lfﬂﬂﬂﬁ rzﬁ Fﬁﬂ'ﬁ,ﬁ- ﬁ‘ﬁ("ﬁ&
w1 g ? o e w9 Qg & o
| Fwafe anf tar pQ & | aETHIK PO FT AW
*) ¥ ‘® ¥
© % ®) % ™ 3
125, 31 3@ Sx+ Ty =35, T dx + 3y = 129K . (D) aryry
x-3eT & = Foreger 7 e foera g 7 132. A

() o ey o
©) M wiws (D) 107 &F
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126. @ @t s Peger ABC ¥ A afts
" wor & oK 0 TEE FaEw € | TEOR, Al
‘ M=54ﬁ€f.ﬁl £BAC Iiﬁﬂlﬂm? ﬂhlﬁﬁﬂﬁﬂﬁﬁmﬂﬂﬁlﬂﬂi
mod B) 1% ) =8t =19 BC 9T A U v faig &, s
B a‘%"ﬁ’ | ¥ famgr mr § | TAER, LBAC+ ZOBC
127, ¥ weq Prgell & QUWEL ST AT 916 | 1 oo e ovn 7
M 1| , JaET g TS W A e & o
(A) 3:5 o (B) 3:4 (C) 90° II-:l}'IEﬂ‘
(C) 435, =~ (D) 4:3 133, 5 ¥t arar 8 ol Pl 2 & g TE-gW
128. af% BE &1 CF o B Aﬂcﬁﬁm 3| II'EEIHi-‘F A o< &l B GER G
& T4 G I -feig ® 3R EF aar afg A fiig & TR ATl OF A 99 gl
AG w1 ufieae g 0 ®, @ A0 : OG e FTFAT P AATQ W HE, A AP : AQ Tohaan
BT i - g 7
(A) 1:1 (B) 1:2 . (A) 8:5 (B) 5:8
(C) 2:1 M) 3:1 (C) 3:4 (D) 4:5
% &Y & fow we
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b Ramnche
140. If tan (x + y) tan (x—y) = 1, then the value

134. If [ is the In-centre of AABC and 75

ZA = 60°, then the value of ZBIC is 2x°
| =L, - of l:an[-—) 15
(A) 100° ®) 120°
(C) 150r° (D) 110° 1 2
| (A) 7 (B) B
. The external bisectors of £B-and £C of v
AABC meet at point P. If ZBAC = 80°, © 3 D) 1
then ZBPC 1is 141. If x=cosecd —sind and y = sech —cosd,
A(A) 50° (B) 40° _ mant_lmvulm: nf.tz}':{xz+ﬁ+3) is
-y (C) 80° (D) 100° (A) O (B). 1%
" (C) 2 [ﬂ}__?f

136. When a pendulum of length 50 cm .
oscillates, it produces an arc of 16 cm. The | 142, Ifﬂﬁﬂigily'tﬁﬂ = x gind and

. angle so formed in degree measure is o 2 %3
(approx) 2x sée@r=y cosecld =3, ne €
I:A] 18225 {E} 13535; then the value of .ll*l'q-)'z 15 E*E’,jmg-
-..Jﬁ ] (A) ! (B) 2 - "[-.r"'-mﬁiq
60, 30 ) 1508 09, o o4

143. When the angle of elevation of the sun
" increases from 30° to 60°, the shadow of a
post is diminished by 5 metres. Then the

137. If x, y are positive acute angles, x +y < 90°

and sin (2x = 20°) = cos (2y + 20°), then the
value of sec (x + ¥) 1s b T 13

1 g height of the post 15
J2 N | ﬁ
o OR WwHBn @B
© 1 (D), 0 z ¢ B
4
138. If 5 tan@ = 4, {hen the value of ©3Hm" ®) 5™
5&' SEEHE‘_E mﬂ'ﬂ] is ; f"b 3:; 144. A rail road curve is to bé laid out on :
D 5.sin@ + 3 cosO -_r,"'F';__...-E N circle. What radius should be used if thr
gl track is to change direction by 25° in
S ®) % s A distance of 40 metres ?
(C) % D) 2 wie b (A) 91-64 metres (B) 90-46 metres
(C) 89-64 metres (D) 93-64 metres
139. The least value of (4 sec’@ +9=ﬂﬁfﬂl 145. If sin@ +sin®@ =1, then the value 1
15 L T s 3cos!l0 + Jcost@ +cosP9 -1
(A) 1 (B). 19 P A) 0 !
© 2 D7 el g D 2
6 e
O SPACE FOR ROUGH WORK
. mﬂﬁ#ﬁ ]-.!'-:"‘.T ﬂ'}‘.‘ﬂﬂ % - ME
e r.fﬁl \ .Er" DT e
L i ";wﬂ'
&0 o (S
= AT e
D - MC 2012 g tﬁj } 26 . 5iNE E't&gt:ﬂﬁg'
e G{Eﬁg = - = e e —
SO~ doav® XU GFT Tre 9 NE
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134, afX 1, O Prgor ABC w1 a8z o R | 140, 2R fan e+ y) tan (x=y)=1 B, @
ZA = 60° §, A £BIC e grr ? .

. 2x)
(A) 100° ®) 120° ‘““[Tx] o R g ?
(C) 150° (D) 110° : |
- -ﬂ. .
135. AABC & £B a1 £C % 3 s P fiig ' B | {B}"_"E
R fire € | aeqeR, af¥ ZBAC = 80° B, &t © 3 (D) 1
ZBPC &g 7 141. af2 x = cosecH — sin@ T y = secO - cosd
(A) 50° (B) 40° B, A 322 (22 + )2 + 3) T WA T R 7
(C) 80° (D) 100° (A) 0 i @) Lies ;
() 2 R 2

136. 50 a6t =1 =1 UF A0S, w7 ST &, ot

142. TR 0 <0< . 2y cos@x sing 4T
16 ST T 19 1A § | TETA, T IFR A 2 2 o e

IV FT, FGHT AT (7o) e @ ? 2x sech -y cosecd = 3B, A
(A) 18°25 (B) 18°35 .1'1+-i:}-1'ﬂ 1=|1='r!r:|1'5”|!rrr?1
, (©) 18°20° (D) 18°08° Egll} g W oh {{g:j; 4

137, AR x, y ST T B, x+y < 90° | 143 FTHHE FITA FIT 30° ¥ 60° T 7 e
&, 3 sin (2x - 20°) = cos (2y + 20°) &Y, &Y &, a1 U et o 5 Hie w0 g At |

sec (x + y) T A1 feeram gvm ? W:E‘*ﬁﬂ*“ﬁﬁﬁg@‘ﬁ?
€1 (D) 0

© T O

138. 7% 5 tang =4 &), 144. @& X-ATf S14%, O I9 F FTER T

5 5inf -3 cos@ ” ® | deqar, aft Saant $ 40 i Hr 7 F
[5 sinf + 3 nnsﬂ] mqﬁmw | wRf T fZar & 25° &7 aftada s, ﬁlﬁﬁﬂ
@ 3 ® 3 ger ¥ s et et g 7

| (A) 9164 Hl2X  (B) 90-46 WX
©) 4 D) % (C) 8964 WX (D) 93-64 Hrx

145. 4% sing +sin%0 =1 &, @t

139. (4 sec2@ +9m1mﬂ=ﬁﬂ“"ﬂ?m c0s12 4 3c0s'%9 + 300889 +cos69 - 1

g ? &7 | ¥47 BT 7

(A) 1 (B) 19 (A) O (B) 1

(C) 25 (D) 7 Oy =1 (D) 2
o w1 % foo ame
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149, If, in the year 2010, there was an increase

""" Ppopulation of five adjacent areas of a town, in

the year of 2010, are represented in the following of 5% population In the area S, and 8%
Piaecharg.mmﬂnufm;mmbm of males to increase in population of the area Sq
that of females in these areas arc stated in the W{ﬂm to the Ffﬂ‘fiﬂﬂﬂ year, then the
wable below. The total of the population in all ratio of population in the areas S, and Sy
the five areas is 72 lakh. Study the Pie-chart and - in the year 2009 was
the table and then answer the question nos. (A) 3:10 (B) 27:10

150, The average of female population in_all

the five areas is lower than the female
population in each of the areas
(C) 5, and 5, (D) S, and S¢

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

liﬁ.d:ﬂ=E:4.H:C=4:5.,E':D=ﬁ:1
Find the ratio of A: D
(A) 4:13 (B) 7:24 ;
(C) 12:35 - (D) 8:22

147. If a man runs at 3 meftres per second, the
number of kilometres that he runs in 1 hour

40 minutes 18
(A) 18 km - (B) 9 km
(C) 12 km (D) 10 km
L) | 148. A ‘sum when reckoned at simple interes!
fi‘-‘. 146. 12 lakh is the population of the area at 8 paise per rupee per month amounts o
A% (A).S "(B) S - = 1680 after 5 years. Then the sum 5
o i . ; (A) T 1050 (B) T 1000
()55 (D) S, (C) T 1100 (D) T 1200
147. The number of males in the areas S, and S, 149. Coffee costing T 250/kg was mixed with
together is chicory costing T 75/kg in the ratio 5: 2
: | _ or a certain blend. If the mixture was sold
w’-lj g (B) 82 lakh at T 230/kg, find the gain or loss %.
(C) 162 lakh (D) 15-8 lakh (A) 10% (B) 15%
148. The ratio of number of females in the area : {E]. ek : FD] S .
Q . : 150. Perimeter of a semi-circular bow 15 72 em.
, to that In the area S 18 : : ;
Diameter of the bow (in cm) 1S
(A) 7:9 (B) 36:13 (A) 7 (B) 14
7 9:7 (D) 13:36 (C) 28 (D) 21
SPACE FOR ROUGH WORK

D - MC 2012 28



UF TR & 9 fmzadi &= & af 2000 &
weeTd o g # wafife § 1 98 99 $i
Aot ¥ qew aar fat £ demi F wu g e
% | 3 avit air &t it Fo seen 72 T 2
S JORE FT ASqGT F0h T8 Teqr 146 T 150

146. Fo e fraamemr 2w E 7.

(A) S, B) S;
(© s, D)5,

147, S, 41 S, &t Y TR g gent it e
Pt & 7
(A) 138 & F
(@) 162 &1E

(B) 8-2 A&
(D) 158 94

149. 3f% af 2010 #, o af Hrgen & 5, &
ﬁrmﬁjﬁﬁgﬂ,aﬁt%ﬁ#
et # 8% Ife g% @, o af 2009 # S,
T S, Al Y FEeTe F A
qr ,

(A) 3:10 (B) 27:10
(C) 27:70 (D) 10:3

| 150, it ot 2Y 3 forat B s & aiter, et

ifmard, aemaane’?

(A) slﬁmsl (B) SEEHTSE.
(C) S, @S, (D) S, T S
e gfeaTiia gwiteaml & fog

| 146. afRA:B=2:4,B:C=4:5,C:D=6:7

ﬁ,ﬂﬁ:ﬂmﬂﬁmﬂ'ﬁﬁﬂﬁm?

(A) 4: 13 L (B) 7:24

(C) 129359 #(D) 8:22

. aft s 3Hiz gfy das A AR 3
Fremr oY, T &g | H2r 40 iz # faeet g0

@ wig AT 7
TgA) 18 (B) 9 fait
(@ 12 it (D) 10 ft

| v ety s 8 4% of v, sl wER &
"BTERYT ST & AT 9 ATET Al 8, af 98
5 @l # T 1680 € W@l § | d9IER, T8
gt At & 7

(A) T 1050 (B) T
(C) T 1100 (D) ¥

| 149, T 250 /e & | =T #16, © ?55"

fera s amelt et 502 & suE Ao
feremet ue | fipar samar T § | SEgER,
e ag feor ¢ 230 /G o &= mn, ar
AT AT w7 gfewe e ar ?

(A) 10% (B) 15%

(C) 12-1%

AEAER, I0 G99 &1 = (F H) e
: | g
(A) 7:9 (B) 36: 13 (A) 7 (B) 14
(C) 9:7 (DY 13:36 () 28 (D) 21
TF & & o s
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PART - D

Directions : In question nos. 151 to 155, some
parts of the sentences have errors and some have
none. Find out which part of a sentence has an
error and blacken the rectangle [mm] corresponding
to the appropriate letter (A, B, C). If there is no
error, blacken the rectangle [mm] corresponding to

(D) in the Answer-Sheet.
151. Instead of being lulEﬁuim"iuas
(A) (B),
being hindrance. No error.
(C) (D)

152. Where havel todeposit fees?
(A) (B (C)

No error.

(D)

L]

153. By the time she had finished her work
(A)

[ had nearly given up
(B)

“all hope of arriving at the party in time.
(C)

F

No ermor.

(D)

154. Some categorically sﬁﬂpectﬂd

(A)
having seen the guard and thief together.
(B) (C)
No error.
(D)

D - MC 2012
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155. He was not in a position to state
(A) (B)
the speed the ship travelled. No error.
(C) (D)

=y

Directions : In question nos, 156 to 160,
sentences are given with blanks to be filled in
with an appropriate word(s). Four alternatives
are suggested for each question. Choose the
correct altemnative out of the four and indicate it
by blackeéning the appropriate rectangle [mm] in
the Answer-Sheet.

156. 1 lunch one hour ago.
(A) have had  (B) had had
(C) have (D) had
1"51 He thought that my car for
sale.
(A) i; (B) was
(C) has been (D) will be
158. He tried to prevent me doing my
duty.
(A) against (B) at
(C) with (D) from

159, To the dismay of the student body, the

class president was - berated
by the principal at the school assembly.

(A) ignominiously (B) pnvately

(C) magnanimously (D) fortuitously




160. 1 would apologize if 1 _-_

{C].hﬂ'fﬂ_bﬁn

(A) am

Directions : In question nos. 161 to 165, out of
the four altemnatives, choose the one which best

expresses the meaning of the given word and

__ you.

(D) were

mark it in the Answer-Sheet.

161. Gaol |
(A) destination  (B) gardén
(C) jail (D) bird
162. Loathing
(A) warmth (B) affectation
(C) hatred (D) affection
163. Pragmatic i s
(A) intelligent (B) wise
(C) religious (D). practical
164. Notion 4
(A) thought % \(B) fact
(C) truth % (D) hypothesis
165. Vivacious |
(A) poisonous  (B) energetic
(C) tricky (D) slow

Directions : In question nos. 166 to 170, choose
the word opposite.injmeaning to the: given word
and mark-it in the Answer-Sheet.

166. Hasten
(A) Dash (B) Dawdle
(C) Hurry (D) Scurry
D - MC 2012

167. Spirited
(A) Animated - (B) Excited
(C) Lively (D) Dull
168. Forthright
(A) Blunt (B) Tricky
(C) Candid (D) Plainspoken
169. Antagonism
(A) Cordiality (B) Animosity
(C) Hostility . (D) Enmity
170. Vanity
(A) Humianity (B) Humility
(€)" Pretension (D) Arrogance

Directions : In question nos. 171 to 175, four
alternatives are given for the idiom/phrase
underlined in the sentence. Choose the alter-
native which best expresses the meaning of the .
idiom/phrase and mark it in the Answer-Sheet.

171. The project is carried over to this year, and
we need to keep the ball rolling.

(A) to continue the work
(B) more information
(C) to do better

(D) new strategies
|

172. The host team bore the palm in the league
matches.

(A) played quite well

(B) was victorious

(C) was defeated

(D) played a very boring match

3] | [P.T.O.
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173. Just keep your wig on. Everything will be
Irigd |

{A:]I Hold on to your wig, so it won't fall
off

(B) Get anbther hair cut
(C) Calm down

(D) Take off your wig

174. Parents pay through their nose for their

children’s education.

(A) by taking loans

(B) an extremely high price
(C) grudgingly

(D) willingly

175. Monica’s habit of picking holes in every

relationship 15 very
(A) admiring people

(B) finding fault

(C) criticizing people

(D) arguing with people

Directions : In question nos. 176 to 180, a part
of the sentence is underlined. Below are given
alternatives to the underlined part at (A), (B), (C)
which may improve the sentence. Choose the
comrect alternative. In case no improvement is
needed your answer is (D). Mark your answer in
the Answer-Sheet.

176. His life is hanging with a thread.

(A) from |

(B) by
(C) to

(D) No improvement

D - MC 2012
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177. After twenty years of exile, the prisoner
was in the end of his tether.

@on -
(B) though
C) at
{I_J]' No improvement
178. Grandfather is often so tired that he drops
of in his armchair.
(A) slides away
(B) falls out
(C) slips in
(D} No improvement

179. The court was forced to respect the
pprofundity of the learned judge’s knowledge.

(A). probity
(B) proximity
(C) prodigality
(D) No improvement
180. He has lost his nearly all many pets.
(A) all his nearly many pets
(B) his many pets nearly all of them
(C) nearly all his many pets
(D) No improvement
hirmﬁnus : In question nos. 181 to 185, out of

the four alternatives choose the one which can
be substituted for the given words/sentence.

181. A group of three books, films etc. that have
the same subject or characters |

(B) trilogy

(D) tripod



182. A study of the human race
(A) anthropology (B) archaeology

(C) ethnology (D) etymology

183. An expert in an area of the fine or other arts
(A) neophyte (B) amateur
(C) connoisseur (D) enthusiast

184. The art of preserving skin of animals, birds,

fishes _
(A) Topology (B) Taxonomy
(C) Seismology (D) Taxidermy

185. Chanting of magic spells
(A) Narration

(C) Incartation

(B) Recitation
(D) Utterance

Directions : In question nos. 186 to 190, four
words are given in each question, out of which
only one word is correctly spelt. Find the
correctly spelt word and indicate it in the
Answer-Sheet by blackening the appropriate
rectangle [mm)]. |

186. (A) abracadebra (B} abracadebri
(C) abracadabra (D) abrakadabra
187. (A) appamrel (B) aparell
(C)_-aparel (D) apparel
188. (A) refferee (B) refere
(C) referre (D)) referee

189. (A) commissioner (B) comissioner

(C) commussionar (D) comissionor

190. (A) etiquete

(C) ettiquette

(B) etiquette

(D) ettiquete

D - MC 2012
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Directions : In question nos. 191 to 200, you *
have two brief passages with 5 questions in each -
passage. Read the passages carefully and choose
the best answer to each question out of the four
alternatives and mark it by blackening "the
appropriate rectangle [mm] in the Answer-Sheet.

PASSAGE I (Question Nos. 191 to 195)

“Nobody knows my name” is the title of
one of James Baldwin's celebrated books. Who
knows the name of the old man sitting amidst
ruins pondering over his hubble-bubble.? We do
not. It does not matter. He is there like the North
Pole, the Everest and the Alps but with one
difference. The North Pole, the Everest and the
Alps will be there when he is not there any more.
Can we really say this ? “Dust thou act to dust
returneth” was not spoken of the soul. We do not
know wwhether the old man's soul will go
marching on like John Brown's. While his body

‘lies ‘mouldering ' in the grave or becomes ash
dnven by the wind or is immersed in water, such
speculation- 1s hazardous. A soul’s trip can take
one to the treacherous shoals of metaphysics
where there is no “yes” or “no". “Who am [ 7
asked Tagore of the rising sun in the first dawn
of his life, he received no answer. “Whoam [ 7
he asked the setting sun in the last twilight of his -
life. He received no answer.

We are no more on solid ground with dust

which we can feel in our hands, scatter to the
wind and wet with water to turmn it into mud. For

this much 15 sure, that in the end, when life's

ceaseless labour grinds to a halt and man meets
death, the brother of sleep, his body buried or
burnt, becomes dust. In the form of dust he lives,
inanimate yet in contact with the animate. He
settles on files in endless government almirahs,
on manuscripts written and not published on all
shelves, on faces and hands. He becomes
ubiquitous all pervasive, sometimes sneaking
even into hermetically sealed chambers.

[P.T.O.



191. What is the difference between the old
man and the North Pole, the Everest and
the Alps ?

(A) he ponders over his hubble-bubble
while they don't

(B) they are known to all while he 1s
known (o none

(C) they remain while he will soon
become dust

(D) they are not as old as he

192. What, according to the passage, happens lo

a person’s soul after death ?

(A) the soul also dies with the body

(B) the soul continues to live after the
body 1s dead

(C) the soul certainly becomes dust after
death

(D) 1t 1s dangerous to guess

193. Which of the following statement is true ?

(A) The nising sun told Tagore who he was

(B) The rising sun did not teéll Tagore who
he was

(C) The nsing sun advised Tagore to ask
no questions

(D) The rising sun told Tagore that he
wotld become dust

What happens to man after he becomes
dust ?

(A) he disappears from the world for ever
(B) he appears in the form of man again
(C) he becomes all pervasive as dust

(D) he often sneaks info hermetically
sealed chambers

194,

195. What figure of speech is used in the
expression ‘the brother of sleep’ ?

(A) Simile
(B) Metaphor
(C) Oxymoron
(D) Irony
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PASSAGE II (Question Nos. 196 to 200)

~ To write well you have to be able to write

clearly- and logically, and you cannot do this
unless you can think clearly and logically. If you

cannot do this yet you should train yourself to do
it by taking particular problems and following
them through, point by point, to a solution,
without leaving anything out and  wathout
avoiding any difficulties that you meet.

At first you find clear, step-by-step thought
very difficult. You may find that your mind is not
able to concentrate. Several unconnected ideas
may occur together. But practice will improve
your_ability. t6 concentrate on a single idea and
think. about it clearly and logically. In order to
increase your vocabulary and to improve your

style, you should read widely and use a good

dictionary to help you find the exact meanings
and correct usages of words.

Always remember that regular and frequent
practice is necessary if you want to learn to write
well. It is no good waiting until you have an
inspiration before you write. Even with the most
famous writers, inspiration is rare. Someone said
that writing is ninety-nine per cent hard work
and one per cent inspiration, so the sooner you
get into the habit of disciplining yourself to
write, the better.

196. To write well, a person must train himself

n

(A) dealing with a difficult problem
(B) not leaving anything out
(C) thinking clearly and logically

(D) following a step-by-step approach



197. Initially it is difficult to write because
(A) a good dictionary is nnt.usﬂd
(B) ideas occur without any sequence
(C) aids to correct writing are not known

(D) exact usages of words are not known

198. According to the passage, writing style can
be improved by ;

(A) thinking logically
(B) writing clearly
(C) undergoing training

(D) reading widely
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199. Famous writers have achieved success by

200, All the fﬂltuwillg' words mean ‘exact’
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(A) .using their linguistic resources pro-

perly
(B) disciplining their skill
(C) following only one idea

(D) waiting for inspiration

except

(A) precise
(B). accurate
(C) very

(D) erect
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